
Объем наклонной призмы. 
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Задача
Дано
:

Решени
е:

Найти: 
V

ABCA
1
B

1
C

1
 — наклонная 

призма

 

 

 

V = Sосн. · h

 

 

BC = 12 см
АВ = 12 см

AC = 14 см

BB1 = 4 см
∠B1BK = 30°

∆BB1H — прямоуг.
B1H = BB1 · sin 30°
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№2 Дано : 
АВ=АС=3см,  ВС=2см,

Найти: а – ребро куба 

Решение:



№2 Дано : 
АВ=АС=3см,  ВС=2см,

Найти: а – ребро куба 

Решение:



№2 Дано : 
АВ=АС=3см,  ВС=2см,

Найти: а – ребро куба 

Решение:



№2 Дано : 
АВ=АС=3см,  ВС=2см,

Найти: а – ребро куба 

Решение:



№2 Дано : 
АВ=АС=3см,  ВС=2см,

Найти: а – ребро куба 

Решение:

Ответ:2см


